
THERMOCALC Workshop 2001:
Calculating Metamorphic Phase Equilibria

Answers for Practical 2

1. A full pseudosection over a wider range of PT is shown below:
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2. The full pseudosection is shown below, and the drawpd datafile used to create it is in “dr d5a”
(but with a different line and point numbering than in “dr d5”):
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3. The full pseudosection, for a wider range of H2O content is shown below. The drawpd datafile
for the problem as given is in“dr d6a” (but with a different line and point numbering than in
“dr d6”)
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4. Sorting out the mess at the high H2O content end of the g + cd + bi + ksp + liq divariant. The
drawpd datafile for the problem is in“dr d6ah”
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